TRE2 75128288 %

HENMEREANRFEHGER (HETHAD)

E B R
(BAL : A)
H27.12. 2 BUED B H27.9.2 & DH#

RELIEREZ % L8 7t BERE I
(A) (B) (A-B)
VLT 29 60 89 88 1
I5 FH T 13 19 32 32 0
e 14 30 44 44 0
o FH T 12 20 32 32 0
KHTH 3 14 17 18 -1
R 7 11 18 18 0
ARE 4] 5 9 14 14 0
ERg 10 12 22 22 0
(i &h) 93 175 268 268 0
B ZE T 3 9 12 12 0
=2 E0) 3 9 12 12 0
AR EEHT 2 3 5 5 0
(A FE) 2 3 5 5 0
JIAHT 1 1 2 2 0
IR 3 3 6 6 0
(= T 8 14 22 22 0
(& EL) 12 18 30 30 0
eSS TILGZ g 2 5 7 7 0
=T 1 0 1 1 0
(B2 AR) 3 5 8 8 0
i 1 0 1 1 0
7a / EHT 0 0 0 0 0
IESE 1 0 1 1 0
Flez o> J5 T 3 4 7 7 0
(FRMEZ ) 5 4 9 9 0
(HTASED) 25 39 64 64 0
(FTHTAS ) 118 214 332 332 0




